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i LREOBBNBIENDKRES LREOERBEENDRES IREOBHOBIENDRES LREDEBRBEENDRES
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - -| 100kN/mM#%#8% % - ~ -|3mEi#BZ B -~ -
Fhst - -~ - Fhest -~ Fhst ~ ZhLst ~
2 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst -~ Fhst ~ ZhLst ~
3 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZhLst ~
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
Fhst - -~ - ZFhst ~ Fhst ~ ZzhLst ~
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
zhst 1.00 | 000 ~ 629 79.07 | FhS | 0.00 ~ 629 2.02 10.23 Fhst 1.00 | 500 ~ 856 79.07 | TS | 6,00 ~ 856 | 2.02 10.23
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 1.00 | 000 ~ 694 87.97 | #nst | 0.00 ~ 694| 2.01 10.16 Fhst 100|500 ~ 985 87.97 | #nst | 500 ~ 9.85| 201 10.16
7 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 100|000 ~ 778 99.86 | #nst | 000 ~ 7.78| 1.95 9.88 Fhst 1.00 | 6,00 ~ 1140 99.86 | #nst | 5,00 ~ 11.40| 1.95 9.88
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 100|000 ~ 762 97.62 | #Fnst | 000 ~ 7.62| 201 10.16 Fhst 1.00 | 5.00 ~ 1158 97.62 | #nS | 5,00 ~ 1158|201 10.16
9 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 100|000 ~ 673 85.10 | #nst | 000 ~ 673|207 10.47 Fhst 1.00 | 5.00 ~ 1003 85.10 | #hst | 5,00 ~ 1003|207 10.47
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM%#8% % ~ -|3mEi#BZ B -~
zhst 100|000 ~ 645 81.15 | #hst | 000 ~ 645 224 11.34 Fhst 1.00 | 500 ~ 1182 81.15 | Fhdst | 500 ~ 11.82| 2.24 11.34
11 100kN/ Mm% 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 1.00 | 000 ~ 708 89.88 | #nst | 000 ~ 7.08| 1.97 9.96 Fhst 1.00 | 500 ~ 9.80 89.88 | #=hst | 500 ~ 9.80| 1.97 9.96
12 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/mM#%#8% % ~ -|3m%Ei#BZ B -~
zhst 1.00 | 000 ~ 492 61.31 | FhS | 000 ~ 492| 2.35 11.86 Fhst 100|500 ~ 928 61.31 | TnLS | .00 ~ 9.28| 2.55 11.86
13 100kN/mM%E#BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 1.00 | 000 ~ 531 66.19 | FnLS | 0.00 ~ 531|224 11.50 Fhst 1.00 | 500 ~ 870 66.19 | TS | 500 ~ 870 | 2.24 11.30
14 100kN/mM%BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
zhst 100|000 ~ 718 91.38 | #nst | 000 ~ 7.18| 1.86 9.41 Fhst 1.00 | 5.00 ~ 9.33 91.38 | #nst | 5,00 ~ 9.33| 1.86 9.41
15 100kN/mM%E{BZ 5 - -~ - -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEi#BZ B -~
Fhst - -~ - FhLst ~ ZFhLst ~ ZzhLst ~
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16 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3mEi#BZ B -~ -
zhst - -~ - -| st -~ - - - Fhst - -~ - -| Fhust -~
17 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
18 100kN/m%E#8z5 | 1.00 | 000 ~ 025| 103.64 |3mEiBz% -~ - - -] 100kN/mM%z#B25 | 1.00 | 1058 ~ 11.23| 10364 |3m%EiBz2% -~
s 1.00 | 025 ~ 803 100.00 | #nst | 000 ~ 803|224 11.30 st 1.00 | 6.00 ~ 1058 100.00 | =nLSY | 6,00 ~ 11.23| 2.24 11.30
19 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
s 1.00 | 0.00 ~ 687 87.02 | #ns | 000 ~ 687 1.81 914 st 1.00 | 6.00 ~ 850 87.02 | =hLs | .00 ~ 850 | 1.81 914
2 100kN/m%E#8z5 | 1.00 | 000 ~ 017 10252 |3mEBz% -~ - - -] 100kN/mM%i#82x% | 1.00 | 10.99 ~ 11.51 102.52 |3m%Ei#BZ D -~
s 1.00 | 017 ~ 796 100.00 | #nhst | 0.00 ~ 7.96 | 2.056 10.36 st 1.00 | 6.00 ~ 10.99 100.00 | =nSt | 6.00 ~ 1151)] 2.05 10.56
21 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 0.00 ~ 7.45 95,14 | =S | 000 ~ 7.45| 1.93 9.76 st 1.00 | 6.00 ~ 1141 95.14 | =hS | 500 ~ 11.41| 1.93 9.76
29 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 0.00 ~ 595 74.52 | FnLS | 000 ~ 000 1.62 818 st 1.00 | .00 ~ 7.05 74.52 | ThSY | 500 ~ 7.05)| 1.62 818
23 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 0.00 ~ 452 56.40 | =nS | 000 ~ 0.00| 1.57 7.91 st 1.00 | 6.00 ~ 5.00 56.40 | =hLS | .00 ~ 5.00| 1.57 7.91
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
zhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
zhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
zhst ~ ZFhst ~ Fhst ~ ZhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
zhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
zhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
zhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
zhst ~ FhLst ~ ZFhLst ~ ZzhLst ~




